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gold foil experiment, the fact that most of the alpha particles were not
ssed through the gold foil indicates that
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is positively charged.

cm 1s mostly empty space.

zre sclid spheres touching each other in the solid state.
s very dense.

I Trne zbove is correct.
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“hich of the following particles has the smallest mass?

<;;)\an electron b) a proton c) a neutron
a hydrogen atom e) a hydrogen nucleus

The _mass number of an atom is the number of in the atom.
protons b) neutrons c) protons plus the number of electrons
protons plus the number of neutrons e) electrons plus the number of neutrons

Isotopes are atoms of the same element that

a) have different numbers of electrons.
p) have different numbers of protons.

fg have different atomic numbers.

have different numbers of neutrons.
e) have different nuclear charges.

The atomic number o certain element is 12, and its atomic weight is 39. An atom of the
element contains protons, (;;;2) neutrons, and the chemical symbol for

the element is (F3

Give the number of protons, neutrons, and electrons in the 4}Sc3”_

ion. Q',P.(O-}sm') ;O meu,‘t'r'or\_g) 2)-3

ne i? C_ lsotcpe. An atom of this isotope contains
re

A hypot Hetlcal element consists of the following naturally occurring isotopes. What is the

zTzcm2c welight of the element?
~sotopes Mass Abundance [/6' Oé/} X O, ;2_(,00 = / l . q zo é (
: 27,2307

46.041 amu 26.00%
yg, 03y 0,160 = 7, 8935%Y

i

49,034 amu 16.00%

47.038 amu 58.00% 7,038 X -0, §gee
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